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General Instructions :

31/1

(i)
(ii)
(iiv)
(iv)
(v)
(vi)
(vii)
(viiy)
(ix)

The question paper comprises of two sections, A and B. You are to
attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been
provided in all the three questions of five marks category. Only one
option in such questions is to be attempted.

All questions of Section A and all questions of Section B are to be
attempted separately.

Questions number 1 to 4 in Section A are one-mark questions.
These are to be answered in one word or one sentence.

Questions number 5 to 13 in Section A are two-mark questions.
These are to be answered in about 30 words each.

Questions number 14 to 22 in Section A are three-mark questions.
These are to be answered in about 50 words each.

Questions number 23 to 25 in Section A are five-mark questions.
These are to be answered in about 70 words each.

Questions number 26 to 41 in Section B are multiple choice
questions based on practical skills. Each question is a one-mark
question. You are to select one most appropriate response out of the
four provided to you.



iEDUGRDSS

www.edugrooss.com

WISDOMISING KNOWLEDGE

31/1

" A
SECTION A

I FEHE A F TR T & AW & G fafay, e ywEies 958 - OH
2|

Write the name and formula of the second member of the carbon
compounds having functional group — OH.

gHg 47 ¥ ufafE & & F8 1 Ica@ ST |

State one function of iris in human eye.

T BT 8 TG AGAVES & Iegl R G IeT FHof At GeTHT fafntor e W
forar &0 § 2 |

What happens when higher energy ultraviolet radiations act on the
oxygen at the higher level of the atmosphere ?

fdl oTER #@en ¥ T IORE WX W 10,000 T el vasy 2, @ facas
IUAIH & T ged19d SUURE B QARG F & fau et S Sqos 8Ri 2

In a food chain, if 10,000 joules of energy is available to the producer, how
much energy will be available to the secondary consumer to transfer it to
the tertiary consumer ?

o g® o fow T E

6C: 80, 10Ne, 11Na, 1,5
(i) 3 99 a@ gHT A ©F e F g =il |
(i) ¥ ¥ 9 7@ U 5% & w98 § 3 =@ife |
TS Y& ¥ 3 99 & faw sror fafaw |
Choose from the following :

¢C, g0, oNe, ;Na, ,,Si

i) Elements that should be in the same period.
(i) Elements that should be in the same group.
State reason for your selection in each case.

FE T X HEd GOl F AW 3MEd qr TR WIE H 2 | 3@ a (1)
sl fomm, (i) i Sasear faf@e | o S SR §ied I S |
An element X’ belongs to 3™ period and group 17 of the periodic

table. State its (i) electronic configuration, (ii) valency. Justify your
answer with reasoning.

3 P.T.0.
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39 Sta & W faf@e, st diem] SuEy g) T S 3w § | 39 99 Fad
Rftafadl & T SR S AevEh & I (3R 3 T F TWES ©
Name an organism which reproduces by spore formation. List three
conditions favourable for spores to germinate and grow.

9o % e § <l@=r @ i # Ia FiS |

State the role of placenta in the development of embryo.

THY RUT SRE a9d G989 & YN [0l & 3UANT &d § 1 o9 fHRwl @
T 39 YR fear wrar @ & <dur ¥ qued & v e faRn g s Wi
B 1 3 Q ROl G SRY 99 WEdT % UvE S9E G @ Seo SiNg |
3 faoll & IYENT SR 3gad <UUT & HIGY 991 Smdl s & ai" g fam &
yfafe &t feafg @ ST |

To construct ray diagram we use two light rays which are so chosen
that it is easy to know their directions after reflection from. the
mirror. List these two rays and state the path of these rays after
reflection. Use these rays to locate the image of an object placed
between centre of curvature and focus of a concave mirror.

et F9 & 57 ¥ Wa T F aa fFOgT & ERA W SEH faRuer @ i
& fau Amifsd o sma difeT |

Draw a labelled ray diagram to illustrate the dispersion of a narrow beam
of white light when it passes through a glass prism.

HHE ¥ TH AN A adfas Rafd ¥ B FW (IR W) TG &ar g | AHifhd
IRG & TP § FHH A HIGC |

A star appears slightly higher (above) than its actual position in the sky.
Ilustrate it with the help of a labelled diagram.

a¢ Sl & fFmin ¥ Saw dF gEemel o= sART | W wwesl w1 OFE '
AT | '

List three problems which arise due to construction of big dams.
Suggest a solution for these problems.

Sharedt i & Te QI I @ g FRE | I = | 1 gUE A
g ?

List the products of combustion of fossil fusls. VWhat are their adverse
effects on the environment ?
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e A # gHeTdg Gt § @ aeed @ 2 R guend oot & 9 wed &
Tt g7 fafay 3k 39 9 & Iooka Fifee St g9 AT & () wifas o,
(ii) TErEfe ord, &t i e @

What is meant by homologous series of organic compounds ? Write
the chemical formulae of two members of a homologous series and

state which part determines the (i) physical properties, (ii) chemical
properties, of these compounds.

Na, Mg @41 Al 4 @ € {58 Gdiomar soagil & G Ha3F U, o 91 9F
21 T () freer s e sfysaw 8, (i) #9 Se9 w8 sfufmania g 2
Y% & U HROT S YA IW F g T |

Na, Mg and Al are the elements having one, two and three valence
electrons respectively. Which of these elements (i) has the largest

atomic radius, (ii) is least reactive ? Justify your answer stating
reason for each.

-y & @9 el gE R 3R vEE & g8y § Wy Sy |

List and explain in brief three methods of contraception.

I B9 TEel Y€ YSIG & oS (YW WeX F U w YR TG & A (SeE)

T F U W G FC A 7 F, i F WX F 0¥ o 2 | 3@ ARk &W

F, 7@ & 7eX & Wi & @-9607 ¢, @ &4 F, WE & WX F ¥

Gl

() F,d& & d9 &4 fo@s & 2

(b) F, W § o el o & i & e F= g 2

(c) 39 YR & Wi & Ieaw Fww s F, 9 § 7w ko 3wy F,
9 # gfemer 8 e | yRs & faw swrer S |

If we cross pure-bred tall (dominant) pea plant with pure-bred dwarf
(recessive) pea plant we will get pea plants of F, generation. If we
now self-cross the pea plant of F, generation, then we obtain pea
plants of F, generation.

(a) What do the plants of F; generation look like ?
(b)  State the ratio of tall plants to dwarf plants in Fy; generation.

(c) State the type of plants not found in F; generation but appeared
in F, generation, mentioning the reason for the same.

5 P.T.O:
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IUfS @il SR SgEfve el H faved e At @ favmerst # ogE w
e § SF15T | TG H UH-US IS Ff e |
List in tabular form two distinguishing features between acquired traits
and inherited traits, with one example of each.

Starey f6d YR a°d § 7 Sfaret @ g fuifa &@ @ S fafd e deg A
quiq FifsrT |

How are fossils formed ? Describe, in brief, two methods of determining
the age of fossils.

FR UF AR F (1) Y SR (i) Iv9 gvd v, ¥ Iw@m feu 9= e
ST & YER F IeolE FIMWE | YA THEOT H 0 IW A IfF & fau wror
fafau |

State the types of mirrors used for (i) headlights and (ii) rear view mirrors,
in cars and motorcycles. Give reason to justify your answer in each case.

4 cm I B T 24 om WHEY T F I A9 F T 3 F A=Tq 4d @ |
fome & o9 ¥ g8 16 cm & | 9 T 1 SUGN w& 94 At Sfafae @ ffd,
IS T SHT G HIGC |

A 4 cm tall object is placed perpendicular to the principal axis of a convex
lens of focal length 24 em. The distance of the object from the lens is
16 cm. Find the position, size and nature of the image formed, using the
lens formula.

F$ 3y g w1 Afh @ ¥ 1m ¥ &9 o0 W g aeqell & Wy 48 @ e
gl frg gfe S @ difed 8 ? sos ©9iy" 59 YoR fdar st g1 @ 2 3@
(i) 3 W R 3TF (i) GOEA & fau oFf fmor sma difa |

An old man cannot see objects closer than 1 m from the eye clearly.
Name the defect of vision he is suffering from. How can it be
corrected ? Draw ray diagram for the (i) defect of vision and also
(ii) for its correction.

FRSIFET 1 £ 7 (i) 999 eRSEEAl, (i) FHgW FESIEEAl F AH I GHAE
ajﬁmﬁmmm%@maﬁmaﬁmlF—mm
FESIHET & [hT YR GJ@ a1 ST Tl § 7

AT
Tt gfE ¥ FESE @ § 2 WeE 5 o qHem w S9ar ® 2 o ud
a%’lﬁﬁaﬁ@mIﬂquﬁ,ﬁﬁaﬁﬁ&ﬁwﬂqﬁmé';}}qqa}m
B ¥, gor ¥ fou SNl ¥ Iuge @9 @ SRV TraEu |
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31/

What are hydrocarbons ? Write the name and general formula of
(1) saturated hydrocarbons, (ii) unsaturated hydrocarbons, and draw
the structure of one hydrocarbon of each type. How can an
unsaturated hydrocarbon be made saturated ?

OR

What are detergents chemically ? List two merits and two demerits of
using detergents for cleansing. State the reason for the suitability of
detergents for washing, even in the case of water having calcium and
magnesium ions.

Y% F TH IR oH THerl qur Iwafer gt & g faded Fivg | w
IRE e afdEm W W & F uiRe aw e we & Amifed
ST

(i)  TIE S-SRI (FTHF)

(i) TR TH-HTEH (FHS)

(iii) 3vSIE 5
HAYgar

AFE & HEl S99 9F & NG GEe fAEfat@a 9 @ amifed s

(i) 98 9 W IS I Fl @ |

(i) @@ WM @l e W Y H e Far 2 |

(it) =& T Rl ffed eve () w@ifha & € |

V9 AFE S H e 98 @ 2, 7@ F & 7 2

Distinguish between wunisexual and bisexual flowers giving one
example of each. Draw a diagram showing process of germination of
pollen grains on stigma and label the following parts :

(1) Female germ cell
(ii) Male germ cell
(iii) Ovary
OR

7 PiT.0.
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Draw a diagram of human female reproductive system and label the
part

(i) that produces eggs.
(i1) where fusion of egg and sperm takes place.
(ii1) where zygote is implanted.

What happens to human egg when it is not fertilised ?

Mo TYUI B YT & Wadd & fau 98 Fag fag Ree] @ g a9 R |
IRT Wiaa 39 fag wRuRl &1 S FE T8 eld 9o # Bied g T i
& fruifia &0 & FfST S 1 & I9 18 om g0 W faad ol fom &1 1/3 T
Eféa wd SR wfafers a9 2 |

Agar

Y 0T ARG S WEEG ¥ YE F 3Uedd & 3 & Io@ RN | T
F AYEdT & fau Vd & 99 1 Sco@ *IST g1 39 MR ®9 H oA off
HifST |

HT & GO qY H AIAAAE 2/3 T AG kWO T F AGEAAE 4/3 B |
e wE ¥ yew H I 2 x 108 m/s 3, A (a) I H, (b) §@ H, wHw@ H
T §1d FifSe |

List the new Cartesian sign convention for reflection of light by
spherical mirrors. Draw a diagram and apply these conventions for
calculating the focal length and nature of a spherical mirror which

forms a 1/3 times magnified virtual image of an object placed 18 c¢cm
in front of it.

OR

With the help of a ray diagram, state what is meant by refraction of
light. State Snell’s law for refraction of light and also express it
mathematically. '

The refractive index of air with respect to glass is 2/3 and the refractive
index of water with respect to air is 4/3. If the speed of light in glass is
2 x 108 m/s, find the speed of light in (a) air, (b) water.
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T
SECTION B
26. HW Tche 91 5% Tohe & g faogd soer faaw 39 8
(A) e 3R &
(B) & IR TEW
© H sk R
(D) et 3R T
The aqueous solutions of copper sulphate and zinc sulphate appear
(A) blue and green respectively
(B) green and colourless respectively
(C) blue and brown respectively
(D) blue and colourless respectively
FR Gohe, A Tohe adl 5% g% & fFemT a9 @ 3k 39 | #aer I 11
g III sifsa foear ar | v fooem & 39 ZgFs Uqfafem & s U | 39 999
UyE ST SR 9T 9fiEdd grEr ST
(A) I3RIIH
(B) II &R III ¥
(C) TR IH
(D) o= H
Solutions of copper sulphate, iron sulphate and zinc sulphate are
prepared and marked I, IT and III respectively. Few pieces of aluminium
are added to each solution. After some time a change will be observed in
(A) TIand Il
(B) II and III
(C) Il and I
(D) All the three
9 P.T:0.
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28. TET ¥ 2 mL S ot 5 39§ 2 mL tHifes 3t faamar war 3R Juor &3

29.

31/1

W I 9 T R 1
(A) UF @3 Td UReyl faergs 5= T @

B) T & T he IEEY I 3

(C) @ yu% Wag &+ Wl €

(D) HE UM T TEdE W e

On adding 2 mL acetic acid to 2 mL of water in a test tube, it was
observed that

(A)
(B)
(&)
(D)

a clear and transparent solution is formed
a white precipitate is formed almost immediately
two separate layers were formed

a colourless and odourless gas is evolved

fdl et ¥ Tifegq gEeE FEHae ¥ idies o oo W #E 8 I8 Jeqor

a2 & 1
(A) = Afafrar 7@ gt

(B) <fievr Ty F TN W Ao @

©) TR 3R T A % g TR §

(D) foF &t diwor Ty o @

On adding acetic acid to sodium hydrogen carbonate in a test tube, a
student observes

(A)
(B)
(C)
(D)

no reaction
a colourless gas with pungent smell
bubbles of a colourless and odourless gas

a strong smell of vinegar

10
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30.

31.

311

tEifes o & fawg # R Ry Mo el § ¥ FHw @ @2 2 1
(A) ' A faemg & o A @ IR 9 e S Ty e @

(B) %% il foeny & @ oK e @ 3K §98 Serd! S & 1Y STl @

(C) ¥ A foew® &t Hiem a1 < 8 iR o9 fod St vy e 2

(D) % oI feaeng H ier W A ¢ IR WY Tl F Y I 2

Which one of the following are the correct observations about acetic
acid ?

(A) It turns blue litmus red and smells like vinegar
(B) It turns blue litmus red and smells like burning sulphur
(C) It turns red litmus blue and smells like vinegar

(D) It turns red litmus blue and has a fruity smell

fFdt o #t & W fFh g fom @ sfdfem @ & fw U sEda <du
weg g i 6 2 | o8 WM ww F & AU 39 WiefEd S 9 1

(A) & TG 9 AJgal fasret & T

(B) & FeA-vifd Iw I TR

(C) va¥ W & fasdt R &« fire

(D) YArTeen @ AN & GRF fFAR W @ HHew & Sarel

A student has to determine the focal length of a concave mirror by
obtaining the image of a distant object on a screen. For getting best
result he should focus

(A) a distant tree or an electric pole
(B) a well-illuminated distant building
(C)  well-lit grills of the nearest window

(D) a burning candle placed at the distant edge of the laboratory
table

11 PiT.O.
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32. fwdl B 7 fFd gy

33.

311

F F IeT F YT VfafaE Eae U F ArH W T W

W fHA | THG YA IEA U I gSTH <UUT H <@ & WA fHRA | 3 ag

<@
(A)
(B)
©
(D)

o % W AR W seE S
TYUT F g 1 W v SEfda widfas

F¢ wfdfara 78 a9 W@ FHifs e 7@ T @

U F FIFE W JH F TS Dl § IeT S

A student obtained a sharp inverted image of a distant tree on a
screen placed in front of the concave mirror. He then removed the
screen and tried to look into the mirror. He would now see

(A)
(B)
(C)
(D)

a very blurred image on the wall opposite to the mirror
an erect and magnified image of the tree in the mirror
no image as the screen has been removed

a highly diminished inverted image of the tree at the focus of the
mirror

Ife sy Rl SOt o & sy ol Fuifa = 8, 9 s uw @ =i

(A)
(B)
(C)
(D)

TH 3T o 3R el

TF 39 ¥ 3R o H LUve

oY F RUS, T & LT FR TH I9M

TF I AW, TF T, I 4A & LU 3R TH T

If you are to determine the focal length of a convex lens, you should have

(A)
(B)
(C)
(D)

a convex lens and a screen
a convex lens and a lens holder
a lens holder, a screen holder and a scale

a convex lens, a screen, holders for them and a scale

12
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FE F AAAER T T B TERA FA TH RO F 99 aRfEd FE F w4 &)
Fd TG Hik OF A9 F TR R Al e § gafon giom s Swom 2

P, 7 P, F g0 @E T O & fafast € 1
.\\\ \\G\Pl \\G)\Pl .\\\
oF1 oL

oP; oP; ©Py ©P;

I IT 111 IV
(A) 1
(B) 11
(C) II1
D IV

While performing the experiment on tracing the path of a ray of light
through a rectangular glass slab, in which of the following experimental
set-ups is a student likely to get best results ?

P, and P, are the positions of pins fixed by him.

\\\ \@\Pl ‘\Gl)Pl \\\
\®\P1 \\\ \\\ \QP]‘

P, © P P, ©FP;

| 1I 111 v
(A) |
(B) 11
(C) 1III
(D) IV

13 P.T.O.
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IR BE A FE F AATER WT I g ERA Tt YHmw @ OHor & A9 gwie
IFTER 99 IMfEa feg |

NN NN
NN RGN

I 11 II1 v
f5g o & T oMfEd ¥ & W@ &4 o ifusw gwEw @ 2
(A) 1
(B) 1I
(C) 1III
D) 1V

Four students showed the following traces of the path of a ray of light
passing through a rectangular glass slab.

AN
NN N LN

IT1

The trace most likely to be correct is that of student

(A 1
(B) 1I
(C) I
D) 1V

14
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111

4w ¥ gFed & WIEel @ @4 & yver e e 4 AR R T sma T |
O,
| II I11 IV \"
T T emE g 1
(A) L II, II
(B) II, III, IV
C) I IV,V
M LIVV
Following diagrams were drawn by different students on having seen
prepared slides of budding in yeast.
O,
| I1 II1 IV \Y
Correct diagrams are
(A) I, II, III
(B) II, III, IV
(C) I IV,V
(D) LIV,V

15 P.T.O.
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37. 49 fRu v few smMw H ggpon @ <wiar wEr @ 2

(2)

g0 F8 Rgp
o) D o | 0, 0,
I II II1 v

A 1

(B) II

(C) 1III

(D) 1V

In which of the following figures is budding no# shown ?

90,0 & QQ 800 e
® D » 0, ol
I I III vV

) ¥

(B) I

(C) III

D) IV

31/1 16
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T e OWE @

(A) IIL IL, IV, I

(B) I IV, IL I

(C) IL IIL IV, I

(D) IV, ILIL I

www.edugrooss.com

I11

The following figures illustrate binary fission in Amoeba in an incorrect

sequence.

The correct sequence is

(A) LI, IV, T
(B) TIIL IV, 1L, 1
(C) ILIIL IV, I
(D) IV, IIL II, I

17

P.T.C.
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39. ° fRu MU M@l ¥ ¥ 3 M@ & gHU S ol F fg-mved F oo <wld €

40.

31/1

2

(A) L1010 (B) IV, 11, III
(C) V,II, III (D) 1V, I, III

From the following diagrams, select the correct ones showing stages
of binary fission in Amoeba :

(A) L II, III (B) IV, II, III

(C) V, I, I (D) 1V, I, 111

fordt @1 A g feufiell & diget e 9R ¥ sifed fEa | s R g e
F FYT T H fENE | A 2 v & UvEn 394 fevihe @S9 8 e
3% drer ik fiR & den 3R 39 WR & ¢ sifET fE | fEwfE g sy s@
! faear & fafor &= 3 fou v 5 S0 & g9y 8

- X

@A Y% « 100 B) =% x 100

y X

y—X 1 '
(C) %> 158 (D) (y —x) x 100
A student weighed some raisins and recorded the weight as %¥’. She
then soaked the raisins in distilled water. After about 2 hours she
removed the raisins, wiped them dry and weighed again and recorded
that as ‘y. The percentage of water absorbed by raisins may be
determined using the relationship |

—X

@) =% . 100 B) =X x 100
y X
(©) y;x % Tclﬁ (D) (y —x) x 100
18
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feufast g orvifyd S &t sfavaar fuffa =@ & sgm & g9 fEufae =t
AT 1 9 q% o A e & qven e fm 9R wma € 1 oRomm @t
afiged & fae, vl g frafre & ye ¥ ifafe oo # g S @

(A) Hdl F98 F TEH

(B) T o b (FHIR) T
(C) 9@ & 3

(D) feer w3 (YW) T

In the experiment for determining the percentage of water absorbed
by raisins, we do the final weighing of the raisins after keeping them
dipped in water for about one hour. For the accuracy of the result,
the extra water from the surface of the soaked raisins is removed by

(A) rubbing with cotton cloth
(B) hot air blower

(C) dry cotton wool

(D) filter paper

19




